
8687 8687.5 8688 8688.5 8689
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

7316

7316.5

7317

7317.5

7318

7318.5

7319

7319.5

7320

ru
n

run:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7318}



8687 8687.5 8688 8688.5 8689
cyclenum

98−

97.5−

97−

96.5−

96−us
l_

1X
usl_1X:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

5

5.2

5.4

5.6

5.8

6

6.2

6.4

6.6

6.8

7

7.2

us
l_

4a
Y

usl_4aY:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

36

36.5

37

37.5

38

us
l_

4e
X

usl_4eX:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

13.5

14

14.5

15

15.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

37.8−

37.6−

37.4−

37.2−

37−

36.8−

36.6−

36.4−

36.2−

36−

35.8−

35.6−

us
l_

12
X

usl_12X:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

7316

7316.5

7317

7317.5

7318

7318.5

7319

7319.5

7320

ru
n

run:cyclenum {run == 7318}



8687 8687.5 8688 8688.5 8689
cyclenum

161.5−

161−

160.5−

160−

159.5−us
r_

1X

usr_1X:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

6.5

7

7.5

8

8.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

216.5

217

217.5

218

218.5

us
r_

4e
X

usr_4eX:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

7.5

8

8.5

9

9.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

39−

38.5−

38−

37.5−

37−

us
r_

12
X

usr_12X:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

7316

7316.5

7317

7317.5

7318

7318.5

7319

7319.5

7320

ru
n

run:cyclenum {run == 7318}



8687 8687.5 8688 8688.5 8689
cyclenum

32334.5

32335

32335.5

32336

32336.5

us
l_

co
il1

usl_coil1:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

6523.6

6523.8

6524

6524.2

6524.4

6524.6

6524.8

6525

6525.2

6525.4

6525.6

6525.8

us
l_

co
il3

usl_coil3:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

3930

3930.2

3930.4

3930.6

3930.8

3931

3931.2

3931.4

3931.6

3931.8

3932

3932.2

us
l_

co
il4

usl_coil4:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

725−

724.5−

724−

723.5−

723−

us
l_

co
il6

usl_coil6:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

14515.6

14515.8

14516

14516.2

14516.4

14516.6

14516.8

14517

14517.2

14517.4

14517.6

14517.8

us
l_

co
il7

usl_coil7:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

7316

7316.5

7317

7317.5

7318

7318.5

7319

7319.5

7320

ru
n

run:cyclenum {run == 7318}



8687 8687.5 8688 8688.5 8689
cyclenum

27550.4−

27550.2−

27550−

27549.8−

27549.6−

27549.4−

27549.2−

27549−

27548.8−

27548.6−

27548.4−

27548.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

5813−

5812.5−

5812−

5811.5−

5811−

us
r_

co
il3

usr_coil3:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

3744

3744.5

3745

3745.5

3746

us
r_

co
il4

usr_coil4:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

893.5−

893−

892.5−

892−

891.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

18682.6

18682.8

18683

18683.2

18683.4

18683.6

18683.8

18684

18684.2

18684.4

18684.6

18684.8

us
r_

co
il7

usr_coil7:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

7316

7316.5

7317

7317.5

7318

7318.5

7319

7319.5

7320

ru
n

run:cyclenum {run == 7318}



8687 8687.5 8688 8688.5 8689
cyclenum

422−

421.5−

421−

420.5−

420−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

71.5−

71−

70.5−

70−

69.5−1X
_c

oi
l3

1X_coil3:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

28

28.5

29

29.5

30

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

482.4−

482.2−

482−

481.8−

481.6−

481.4−

481.2−

481−

480.8−

480.6−

480.4−

480.2−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

94.5−

94−

93.5−

93−

92.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

29.2

29.4

29.6

29.8

30

30.2

30.4

30.6

30.8

31

31.2

31.4

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7318}



8687 8687.5 8688 8688.5 8689
cyclenum

169

169.5

170

170.5

171

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

43

43.5

44

44.5

45

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

9.4−

9.2−

9−

8.8−

8.6−

8.4−

8.2−

8−

7.8−

7.6−

7.4−

7.2−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

180

180.5

181

181.5

182

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

23−

22.5−

22−

21.5−

21−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

7.5−

7−

6.5−

6−

5.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7318}



8687 8687.5 8688 8688.5 8689
cyclenum

246−

245.5−

245−

244.5−

244−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

84−

83.5−

83−

82.5−

82−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

7.5

8

8.5

9

9.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

445.5−

445−

444.5−

444−

443.5−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7318}

8687 8687.5 8688 8688.5 8689
cyclenum

7316

7316.5

7317

7317.5

7318

7318.5

7319

7319.5

7320

ru
n

run:cyclenum {run == 7318}
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